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grranfaat & forg ﬁlécST : Instructions for the candidates :

1. u¥lemef OMR IWT WA WY AUAT 1. Candidate must enter his / her
v qieaar wWiE (10 HE H) Question Booklet Serial No.
HTIT ford | (10 Digits) in the OMR Answer

| Sheet.

2. R FUrENT 39 vl 4 & 2. Candidates are required to give their
I G/ answers in their own words us far

as practicable.

3, qIE! 3R B 9 &4 gU 3% YUl 3. Figures in the right hand margin
e #vd &1 indicate full marks.

4. ¥ @ ezn:fga# %’# & 0 4. 15 minutes of extra time have been
Rl ® 15 e @1 Al a7 allotted for the candidates to read
fear o1 81 the questions carefully.

5 98 H¥T 57‘(\?7557 gt @vel 4 & — 5. This question booklet is divided into
Qqug-3 Uq TUa-a |/ two sections — Section-A and
Section-B.
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0.

&vg-3 o 70 &g gyy § Froi 6.

q =t 35 gt @1 Far
Sfaarg &1 359??}‘?531'&«17‘?;73;{(
T 9 S 35 @1 & qedT gy
JeE & v 1 sfw FYiRa &1z
SW-77F 4 RU T Gal faweq &t
qiet / @t aer 97§ gmg ¥
fowt ot mww & wgew / e
T/ @ / AGT T BT omr
SUY A% H maiT @& r aqar g
ST YT GRS gy

GUE - & H 2079 IA0T qvT §
g% & fw 2 dw FeiRea & frd
g fa=gt 10 wer @1 Fwv v
AfFard & | 37 sfalke 79 @ve
6 37 IeIT Oy fed ma & gdw &
fow s s fuifa & fad @ feet
3 ¥l &T AT F47 3ifvad 21

fFal g @ goraeiiAe SYFRU FH 8.

5T qureEr aford &

there are
out ()f

In Section-A,
70 objective type questions,
which any 35 questlons are tcf be
answered. If more than 35 questions
are answered, then only first 35 will
be evaluated. Euch guestion carries
1 mark. Darken the circle with blue
/ black ball pen against the corred
option on OMR Answer Sheet
provided to you. Do not use
whitener / liquid / blade / nail
etc. on OMR Answer Sheet,
otherwise the result will be
invalid.

In Section - B, there are 20 short
answer type
carrying 2 marks, out of which any
10 questions are to be answered.
Apart from this, there are 6 long
answer type questions,
carrying § marks, out of which any
3 questions are to be answered.

questions, each

each

Use of any electronic appliances is
strictly prohibited.
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WUT - 3 / SECTION - A

RS Wi / Objective Type Questions
WY HET 1 H 70 7% & gdw wyr & wrer @ Py fro mo & Frad @ o wet
39 ET 9 TG &1 fawew w omr vz av Faft w¥ PeF 3599 ®T IV F

Question

mark your selected option, on the OMR-Sheet. Answer any 35 questions.

1. S S i % e Seffar T eR wd b o

_RA
{(A) p==7
_RL
(C) P=1

B) =+

(D) p=R.L.A

Which of the following is correct for resistivity of a material ?

(A) p=

(C)

Potential gradient is equal to

B =

(D) p=RLA

(B) dx.dV

(D) ¥ ¥ FEE ==&

(A) -c‘li—"; (B) dx.dV
(C) %}V— (D}  None of these..
[117 ] E | (A)-9001-Egs) Page 3 of 28
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Nos. 1 to 70 have four options, out of which only one is correct. You have 1o
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Pyt et il 8.1, IR A

A
’ ' dige-izt
a e ()
ry -1
© Alee- 1 (D) (siwe)(Hil)
4.1 unit of electric flux 18
Jnet
(A)  ohm, tetre (B) ampere.metre
(¢)  volt-metre (D) (volt) (mctre) -1
. s Qene 3 Brsfefaa 3 @ n 1 9 A TR 7
Y (B) 8
c 42 (D) 100
Which of the foll(.);ving values of n is not possible in relation Q=rie ?
A 4 (B) 8
€) 42 (D) 100
5 wmmq@wﬁuﬁmaﬂmﬁm%mhqfaﬁaaﬁmuﬁt 7
€, d

w 2t B s

L _A
(C) e A (D) e d

Which of the following is correct for the capacity of a parallel plate capacitor

€, A e d
1 VI Rl 0
o A .
0 D L
fA (D) =
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Faga Ao 43 o g

A Ve v
L v
| 7 0 vinpr.
Power of oloectrie chrewdy s
A VR B)  vig
(© Vv
. D) v py.
lein gy sy ?
W y
; (B) -
(€2) w, ¢ l
| (D) o
Cuapacitive reactance is
Ay M4
4 | £
w
€C)  w.e (D) :
we
fsferfme 4 fmg '
erss ity =71 o sy e e 9
(A)  mfw (B) i
(C)  erimées D) I@

Interference of light is the redistribution of Wwhich of the following physical

quantitics ?

(A) Frequency (B) Intensity
(C)  Wavelength (D)  Speed

-
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9. Wizl 1 faam-gen g R

A T I

©) 91 x 10-31 kg D), 16~ 10°%7 kg
The rest mass of photon is /

(A)  zero (B)  infinitc

(C) 91 x1031kg D) 16x 10 ke

10. &R & gfa vd e &

1
A E -E,= 5 h B) E, -E,=hv
-E. = _3
(C) E -E,=3hv D) E -E,=5hv

Bohr's frequency condition is

() E -EB,==hv B) E, -E,=hv
© By -E,=3hv (D) B -By=3hy
11. R Sl ol G BT &
) . R fraveT B) M atatEaT
(C) T Nt =l foretias (D) A Gead

The source of solar energy is

(A)  nuclear fission

(B)  chemical reaction

(C)  annihilation of elementary particles

(D) nuclear fusion

[_ 117 | E | (A)-9001-E@s) Page 6 of 28




12 VR R avm e freeae 3 w9 X 2

Ay wid

o

B
(©) & D)
Which of t} S icity ?
1¢ following is the best conductor of electricity
(A) Silver (B) Copper
€)  Gold (D)  Zinc
% NORERS w1 oferet wetvr g &
Boolean CXpression for NOR gate is
(A) A+B=vYy (B) A B=Y
C =
© a.B-y D) A+B=Y
14 TSR e (1001), =l ot e o &
(A) 12
2o B)  (8)
(C) 9
1 Bho D @5)
-‘The decimal number of binary number (1001), is
A (12) B)  (8),
(C) 9o (D) (25),

15.  vehret-aN TRy wlifae i = aee 7
Pl it ey ww
(e '

) Sl (D) U&wT &y RIERH
The unit of which physical quantity is light year 7

(A) Distance (B)

(C)  Energy (D)

Time

Intensity of 1ight
117 | E [(A)-9001-Egs) Page 70f28




16, ud Byl gawawll & s g ufafae gl ¢

Ay TS 3 i (B) S AR 3
() arafaw oy dur (D) A H{I I
The image formed by simple microscope is

(A)  Virtual and erect (B)  Virtual and inverted
(C)  Real and erect (D) Real and inverted

17. 3901 I gRT Mefetge & -1 gz 3w ) foran sTran & 2
(A)  Frpe-gfer By -giea
(C)  SRI-gRERa (D) Al

Which of the following eye defects is ren .oved by convex lens ?
(A) Ncarsightedness ' (B) Farsightedness

(C) Presbyopia (D) Astigmatism

18.  gui-fgetqur enyan & fow ffefaa § 19 dev @@t & 2

My — M
(A) w=Tf—_T’ B) w=(n, —p )k, -1)
Y
1) “y -1 "lv'l"r
€ w=r D) w=tt
v r Hy

Which of the following relations is correct for dispersive power ?

(A) w_u | (B w=(p, - 1
“y -1 Ry Ky
C) w=—4__ D)  w=—t—L

[ 117 | E ’ (A)-9001-E3s) Page 8 of 28




’ !
TEEALE

ey 1 , . oy o] gt
vo,  Fermen o wmn oy e k) A o)) AT

Y ,/,/ v
(A) 3¢

‘”’ - "fi:
2 p :
f
(C) .‘.‘:;f. w5

, ) e 5 2y il 72
Velacity of light in vacuum is ¢ Its value in glass w3/

3¢ ;, 2..’-
(A) 53 (E3) 3
, 4c £
(C) 5 (D) 7
20. WA A & S vy o #) wen w1 2
W - ® S~
\ J,

c) Ze '
©F D) S+,
The length of an - g < fes

an astronomical telescope for normal adjustment is

A -

A s~ By  f, ~f,
/,
(C ==
7 ®) -,
21.  TF 7% =% % #09F % 0F F GHEE 70 e g 3
(A) I mm (B) 2 cm
S
/,(_g) 25 cm (D) 1m
Focal length of eye-lens of a healthy man is abouyt
(A) 1 mm B)  2em
(C) 25cm D)y 14

I

(117 | E [{A)-9001-Eus) Page 9 of 2




v .." g - a— :‘ — - e - . » ” - d 4 - - -
22 drad 7 (9N i) % wTEAarE O T bratetaa O e R 7

H, + 4, M, =M,
(A pm st B p= -t
< K K,

€C) u= —5— (D) u= —;3—
Which of the following is correct for refractive index of mean colour { velloy
colour ) ? ’

B, _ K, —H,
(A) R (B) rR="">%

M B
(C) u= - (D) w=7%

23. THR T8 Al S 51 91 F b erl §

(A) A , . B) A

(C) 100 cm (D) 10 cm
Power of parallel sided glass-slab is
(A) infinity (B} ZETOo

(C) 100 cm (D) 10cm
24, i AP TR E E

Ay (g, -u)A" B)  (p, —-r,)

(Cy  (n,+n,) (D) (u, +u,)A

Angular dispersion is equal to

(A} (, -u)A B} (m, - 1)

€ (n, +n,) (D)  (m,+H,)A

Vot A il TN el 2

[ 117 | E [(A)-9001-Egs) Page 10 of 28




25 TWER R % feu Sreeiag § B 96 € 2
W T,-T, ® S~/
(S D) << fe
// ?
Which of the following is correct for Astronomical telescope
A f=1 ® fo>/e
€ f<f. D)  Sfo<<fe
26 gmr‘;‘eraﬂmm%
A I B) F
<y (D) 9x10°
The value of €, in air is
(A) Zero - (B) infinity
€ (D) 9 x10°
27.

sa@!-&ﬁ‘ S U AERTE F0 W FE G 96 T 9= G 2

(A} gE B <
/_,. E

. E .

{C) Py (D) JqE

The value of force acting on a charged particle in electric field j
1S

P } 5"4;3 {B! 3"
9y Y
<7 P VeE

3

- ) Foonm g Fage 1]
(117 | E [(A)-9001-Ess) s




fg d A 3R B & @ I wifeem &

28.
= !
A
A C
) 2cC

{

9/

(D)

aln vla’

‘ i e is
Equivalent capacity between A and Bin figur

C
p— —— B
C
A ® 3
2
© 2c By ¢

20, ZHEWIR ¥ fo Frfafed & @9 W6 ¢ 2

)%x.) ‘g A.C. ®! D.C. § Sgea &

(B)

(C)

g D.C. T A.C. H 98T €&

g8 D.C. dieedl s el a1 UerT §

[ (D) & A.C. diceal i SgIdl 9T BTl §

Which of the following is correct for transformer ?

(A)

(B)

It converts A.C. into D.C.

It converts D.C. into A.C.

(C) It increases or decreases D.C, Qoltége' :

(D) It increases or decreasesl AC vdlta-gé ) na »

i :
i
4 .-

-
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AN Gt gy 5 i
thy i . B
N “’4’ f’.’» P4
(""-” T {17 £t
N BT : v "
I3 i ’ ”’ ’Hﬂ-g‘_lls“',il' V'-'p;', hf,,”yj;’ it
(i o
S Ty Hﬁ ’
I AU et 4 it ot g ot o
(/i) (y s
Gy T
() A :
" ' s 17
My ¢ gaf .
altie i Brde of digs us rnaypesis, poole: 14 Kb k5rthL 18
:ﬁ’ N thy 7
;.v’ 4?{"
o o iy
B VIR ey ot gy
(Al O3 ana g e
() | % aqirius :
ty o5
The value of maynens. susceptibality of vacuum s
{A) cegual 1605 #25  infinite
{(Cj  rqual 1o one Dy e
W AR () & b Gt 6w ma ag g
H % :
1A} ow & {55 o %
0 e R R TN T
Which of the following relations is correct fnr PEr e atatity o
| o Y wef
o eI e
Py bR A wp0l-Bow
PII7 R A SO0
. ]



- - 2 i - -
A ARATT 0 ot AR W3 B, S 12C

34
o @ Img AR B, g1 et 1 Friai g ?
(A] B, = Bcosd B B, = Bcosé
©) B, = Band D) By = By sind |
If B is carth’s magnetic field in magnetic meridian, & 15 angle of dip, B, :
1
— . - j‘;
horizontal component of B and Byis vertical component of B, then whichy
the following relations is correct ? }
{A) By = Bcosd (B) By, = Bcoso
a5, foggA-gEEE T 2 o 1 e el €
- . . e A -
) E F @Al (B) B & FHI
— — . . - b d -~ 3
(C) (BzE)av‘TmrFr(. y)/ (ExB)$W
The direction of propagation of electromagnetic wave is
- —
(A) parallel to E (B) parallel to B
- - > =
(C) parallel to (B #« E) (D) parallel to (E x B)
n6, Pl TmoTH F ATAEE RIAGA ( €, ) Tl &
€
(A) P (B) EXE
0
(C) €+E (D) E—€
The relative permittivity ( €,) of a medium is
n £ B
- EXE
(.‘0 ( ) 0
(C) €+ e
— 0 (D) €-¢€ )

P w8,

-¥ e
g F e w0
v B
4

Page 14 of 28
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wa fa AW o oqy L .
3 ; : T ru g Y?ﬁ{n.iqnq R E R A

} q
N Fae T
In¢ 1) r “3) ':"'__ e —;:).
" :()
q.r .
(L‘) :-‘71' C q‘,'
€ a.
) (D) dneg T
Th

¢ value of e : ,
Clric . . s
1€ potential at o distance r from a point charge 413

A) —_4g

dne, T, 1 9
or (B) an = . r2

(€ —LL 2

& ' (D) 47t1€o a2
JTEITT ohT gea- .

38. T ey o %
(A) T TN x T sy - F
- el ATHA
o I SR
e (D) T IER x FoI AT
Surface density of charge is equal to
(A) Total chargé x Total arca (B) Total charge
. Total area

o) Total charge

Total volume (D) Total charge x Total volume

39. U T WeEd Reriw o &
(A) 80 (B) 60
(G (D) 425
The diclectric constant of water is
(A) 80 (B) 60
(D) 425

< 1

ﬁ17 | E (A)-9001—E@J page 15 of 28




r o qult ) Pagge- e gl 8

1, R :::ffF.J
(A _R (B) 4n €, R
' dn €
. Ire, (D) 4ney.R°
R
Klectrical capacitance of earth of radius R 1s
A R (B) 4z €, R
4160
o = (D) 4neg.R?
11, T QR SXIe] sl g
! T ' TFHUE
y — B 1FeTHx1
, 1 THIS
. . | 1 A
C) 13 x1HH D) T
(<) 1 giee
Qne ampere is equal to
(A) %E:L%?r?—;—b- (B) 1 coulomb %1 second
. . 1 ohm
(C) l volt *x 1 ohm (D) 1 volt
sy Tage IS S B TR T
@& g B)
(€ 3 (D) g3 Wi TERR
Unit of eletromotive force is
{4  newton (B}  joule
(&) volt (D} newton/ampere
{ EL7 | E | (A}-9001-Eas Page 16 of 28




13 TR Rt e
A l\-—Q Fa L0t ) 4 >
@ X a4 Mo ® x R 'f/ LY+ He
P 2
A Asvq 4
X 4 A+d .
C e Y 1 A + H
© =2 ¥ ,He by X et T2
ich of the foligu,:
Which o Ollowing 1. fesents the -decay of /;X ?
A-a ‘
A =2’ ¥ He ®  Cx— My, He
VA z+2 -
A A4q
) X 4 .
@ 2Ty oHe ©  Cx— LY+ e
. Z Z+2
44, TreiEd § g e T 3 )
A T o
(Al (B) UrH
© s (D) ﬁazm
Which of the followmg 1S not g fundamenty Particle ?
(A) Neutron | (B)  Proton
(C) O -particle (D) Electron
45, vawma%%qﬁm%ff@aﬁﬁqmﬁ-m% )
(A} 30-300 Hy B)  30-300 iy,
},}/ 30-300 MHz (D) 30-300 GQH,
Which of the following is the frequency range for TV broadcast'mg 2
(A) 30-300 Hz (B) 30-300 kHy
(€}  30-300 MHz D) 30-300 GHy,
g
L ¥

A &l a -84 &{X:ﬁaﬁq_

\
| E {A)-9001-E@s) Page 17 of 28




"3
’

Y @ e Resifl ol mad al

46
@A) Suhe TR
) R () A
Which of the following units is correct (o measnue attonuation ?
(A) decibel . (B ohmn
(C) ampere (D) volt
47, U pWEIT HG-TIOTE gar &

() G
(B)  HUTARI

(c) FAERT
W Y A YT FAARI PR Ioq AIHEAl 9X aferd

(D)

A p-lypce semiconductor is
positively charged

(A)

(B)  ncgatively charged

(C) uncharged _
absolute zcro temperature but charged al hig

(D) uncharged at

temperatures
48. m;ﬁ#mqﬁsﬁaghaﬁwmuﬁvﬁwﬁéﬂﬁm%

L ® 3

c = o) 2

The minimum orbital angular momentum of an clectron in a hydrogen atom i
(A} h (B) lzl_

© £ o) £

[ 117 | E [(A)-9001-Eas) Page 18 of 28




(A)
(C)

Donor impurity atom |

(A)
(C)

3

5

3
S

P GIEEIN *IUW{[ W L2ie

50. CZIHRY oy &

ufeRTy

(A)

(C)

YRY

Voltameter measures

(A)
(C)

1
51.
47:60

(A)

(C)

The value of 1.

(A)

(C)

resistance

currcnt

T O BlaT &

TE &1L 2

as valcncy

9 x 102 Nm?2c-2

9 x 10?2 Nm 2.2

18

9 x 10° Nm?2c 2

9 x 102 Nm 2.2

52.  Tfeifad ® 9 gy @@l ¥ )

3_F
A EB=
.-
© E=Z
- F
| [117 | E [(a)-9001-Egs)

(13)
(D)

()
(D)

4
6&

4

(D)

(B)
(D)

(D)

(B)

(D)

potential difference

none of these

9x%x 10 °Nm?2c¢2

9 x 102 Nm?2¢-2

9 x 10 °Nm?2¢ 2

9x 102 Nm?2¢ 2




which of the following, relations is correct ?

—b
2_F Pl
(A) =g (13) 12=sql
- ' .
© E= 4 o) B ..ﬁl}ih._ 4
I,“ g Q) "'.
53, fergal-faga SOE gien &
4 ‘ B =
A 12 B
(C) wq (D) Jud
Elcctric-potential is equal to
4 B w
(A) v (B) q
(C) w (D) . ‘qu
54. faegmy faya- 3ol T s.1. W gl &
(A) cm @) ecm?
(c) cm’” (D) cm’?
S.1. unit of clectric dipole moment is
(A) cm (B) cm?
(C) cm ! (D) cm 2
55 U@ H{E (F) AU G
(A} 1CV B 1cv
© 1cv? oy 1cv?
One farad 1s equal to
(A) 1 CV (B) 1 CV l
_J A
{C 1 CV (D) tcv?

* s
{ e e g T S —

117 1 E [A1-G0 T
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P VR sy oo
PP CIL R IRHE & favf

Ay Ve
(A) ) jev?
‘ Al "
© ey I %
Potentin] CRerpy of 4 Chargeg « onducior jqy
(A) Cv? (B) } cv?
((’ l A Y 2
) fcv ) ~cv?
57. ¢ ®Oy R p— Ty ST T 8
5 Th URY 13 $WUTRW%‘{N$W& T R
A 1. R, B)  I1.R?.¢
€ 12 R,

B) 1.R2 ¢
@17 R D) 12 g2,

58. 5 tesla (35e) HT Yo 85 SR By &
. CER .
R et B)  5x105 —*__
()2 (Thex)?
(C)  5x102 ey D) 5 x 102 IR (Hiex)2
Magnetic field of 5 tesla is equal to
(A) 5 x _weber B) 5x 105 weber’)
(rnetre)2 (metre)”
(C) 5x 102 _\&bgr)_q (D)  5x 102 weber x {metre)?
(metre)” olbiliicn .

[ 117 ] E (A)-9001-Es)




gi:qquﬁ fRT &I r.am.s. L21CC I (R SR

59,

i Gl &

(A) I!.m..\'. = 0:505 Iy “3,

(C) Ioms = 0-707 Iy (D)
The relation hetween r.m.s. value of

of alternating current ({y) is

(A) Ir.m.s. = 0-505/o (B)
(€) ]r.m s 0-707 1o (D)

60. g FmEd o aﬁmﬁﬂ?umqﬁwﬁz,
ofiqer @1 A &Il g
T B
a1 (B)
1

) wl D

€ oL (D)

Inductive reactance offered by an inductor

angular frequency © is

) aite gedrdt ATt e 50T (1) %
61 % %

alternating current ( I, ¢

1A

= 0-606 1,

Ir.m.s.

i - 0-808 1

r.ans.
) and peak vy,
]

I, = 060600
I, . =0808l

o .L

L

w

of inductance L in ac circuit «

A 7 & et
) ;;11_: (D) "f‘)'
61. Wﬁﬁ’lma;mﬁﬂ%ﬁﬁﬁﬁqwaﬁ%?
A WW:mmmﬁﬁmeWﬁﬁ
e
‘ . e Ane Wl
(© ¥ oI =
ST AT Wik
_ (D) wﬁﬁqm=%[wémwwﬁﬁxam1ﬁmwwﬁﬁ]
T|E (A)-9001-Egs) Page 22 of 28




v“,'i' h 0f 1}!'» r””'r”i“y re h!“('h'}

Wthieree s Sugp ppppne tac e 7
’r’\ * e ~
§ rer o0 Ao,y Ir.“ Hyefs Sy Hret s - "F’k"”’r' wekt s Lo pbir
{13) Pesmer i ftip ~ "f’l' arent ver: A gerruer
Troe in s faye prraes
() Peraer facinp » . 110 & {me Joner
. f\.mmr( nt ave Fage prrsser
19]] Power factonr -

7 ‘ rrrUC ﬁl'lﬁrr}gf: Vi"lﬁr 7 I‘\;fp‘"";r)? ;;-Jf’)';;;/__(; -;‘_/,-’r!f.':' Y

B2 i ity kv g g I Hp 1 )
(A) 3 (£2) 4
(C) 5 (1) ,
\ Y .
/alue of yreen colour code on carbon resistancs is
‘f\) 3 ”..;., 4
© 5 o) 6
673,

e} . - . -? . . . . . . .
TR AT Y i et w9t (o ymr ey TA E v

..., -y

td -~y -~ y
B R =qvaB B F =q(B.V
» (Bay VT
. r o %V) . ~> 7B
e 0 F, = LB
- . ~y
“APression of force on n charge ¢ moving, with velocity V in 4 magnetie (el
~p
13 is
-:)' s S B 4 -? asp
(A) I, =q(V2B8) (B) Fo=a{B v
e iy (‘i} }’
. - (B =Vv) . o \V zE
(€) ‘m= 7 .._.... (D) Irn.“

1
64.  WieRMT o wste wmn i Saetfetee & 2 o e 1w y

Ay fawErr By Hm

(Cp T s ue e (D) 7 B

[ 117 | E [(A)-9001-Eps) Page




5.

60.

67.

which of the (ollowing is the «
(Al Potentin difference

(14 Current

i) Hoth potential difference and current
(1) Nane of these

gy w3} A0AL B )

@B 10°mH

@) 10 mi
(D) 10 “mH

() 10 *mii

One henry is cqual 10
@) 10°mH

(A) 10° mH
(D) 10 °mH

(C) 10 mH
yfirinifiza acd % fag farafetfiac # #7 TE 7

e A 1
("~ 1u = 6937 B faTh
©) 1, =06931)2 D) Tq =’}:lé’

which of the foll
! 1
® T, = 56931 B a7y

(C) T, =(0" 6931)A

g o B TE € ?

(A)  (1100), =(12)s0 (B)  (1001); =(12)o
(€  (111), =020 (D)  (1011); =(2ho
Which of the following is correct ?

A -
(A} (1100), =(12)59 (B)  (1001) = (12);

(C)  (1111), =(12),0 (D)  (1011); =(12)
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same in parallel connection of resistances
. e L8P



et 60, St o \

“\' AN“’, ()lv{. N()bl\

(13) AND, OR
() N/\Nl), NOIR

(D)  OR, NOT
M ) A : ‘
Which af )y lnllnwmg 1 correct for fundamental gate ?
(A AND, OR, NOT (B)  AND, OR
(C) NAND, NOR (D) OR, NOT
ov. Flera  a ey 4 -

(A) ‘}’ﬁifl’-‘l‘ (B) o, ~SRUT

(€)  p-wmur

D)  TRW

Which of the following is not charged ?

(\) Photon (B) o -particle

(C) B -particle (D) electron

70, w WA wRRY W e ¥ G & OAF Bl ®

(A) 1 By 2
)y 3 Dy 4

The value of yellow colour in colour code of carbon resistance is
1A} | (B) 2

4
Q3 (D)

; -“g
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7vg - ¥ / SECTION - B
&Y IAY I / Short Answer Type Questions

m#wz#zoaqm?lﬁw‘#xoywa%milmm'hqzw'
1042‘-‘2,_

Questions. Fach W,

Question Nos. 1 to 20 are Short Answer Type. Answer any 1 0

G,

carries 2 marks :

1. == S T W F A AN FT Y A9 F] g £ 7

What do you mean by apparent angle of dip at any place ?

&

2. FER W faE o
Writc Brewster's law.
Writc Biot-Savart's law.
4. ToRA AR W 99|
Explain electrical resonance.
mawmmammmamn 2

Write necessary conditions for total internal reflection of light.

N)

6. UREH S § Y ¥4 §OAd & ?
What do you mean by Paschen sernes ?
7. THEIR § GF-89 H 99 | .
Explain copper-loss in a transformer.
8. TR-¥@ ® gHAW

Explain solar cell.

9. IO T UGl § g ¥4 TEAS © 2

What do you mean by capacity of a conductor ?
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0.

12.

13.

14,

15.

16,

17.

18.

T ey 4 e y . .
D TR R g gy, S WL o6t fepd
efing voly .
. e dcnany of Charpe. Write itg S.1ounit
HaTwig; ]

Whay '
al do YOou meyn by scmicondumor ?

TR W gy
Xplain SCC()ndary

Eica

Tgclierss

E .
raimbow.

(B)W%ﬁquﬁaﬁi‘a@\

Write two Properties of bety ( B) rays.

WHPR F AETE A

Explain n-type of semiconductor,

“W{ﬁww%uqawwaﬁuﬁwm%;\

Define clectric flux on a surface.

Tt fovter =) afvam ¥

Defline magnetic potential. |

| AR 6 ) s 9 9 e

Writc two cssential conditions of constructive interference
7T 1 T A W S W )

What do you mean by power of accommodation of eye ?

NAND-ER& ! T |

Explain NAND-gate.

gt wigeR P W |

13

Explain frequency modulaﬁ@i;;,

[ 117 | E | (A)-9001-Eps)|

3




At IWUT UFT / Long Answer Type Quustions
F 1w oy

26 I FRRr wy & ) fEed g wwal @ e

gyy @5 21 W

5 aw Fraia &

Anstier oy O questionss Faep

Question Nos 1o Joare Long Answoer Tupe Quesitons

question comes 3 marks : NN -,

2. e o F e e frar gan @ el W "

- i 1 1)
—=u-0 |5 -5 |
4’ RI R: pJ
Establish the formula for thin lens given below :
1 1 1
T
f R R,
‘ . ~ [ ~ . \ -

}/-‘meaﬁmwmwﬁmmwah 5
Find out the expression for magnifying power of compound microscope.

03, B8R fadE-fnE % SR9 @%@“Wfaqafavaésmwﬁqﬁmh 5
Establish the expression for electric potential at a point duc to & small clectric
dipole.

fat - . . .
24, . WTEd YT aan-um—qﬁ%%rqmarﬁﬁs 5
d )
e Find out an expression for root mcan squarc valuc of an alternating current,
T ~ o n B 3 R AN .
25 W,wmmgmﬁﬁm$wﬁfw§| 5

Write properties of diamagnetic, paramagnctic and ferromagnetic materials,

Wmﬁmmmmmumw%%?ﬁgﬂmﬁmw

26.
& for foe G (N= N, e ) Smiae | 5
What do you mean by halflifc and avcrage life of a radioactive substance ?
Establish disintegration formula (¥ = N, e M ) for radioactive substance.
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